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[58curTime : Time = 0
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[TimedElement
(from Abstract Concepts)
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[#instance() : Scheduler*
[®scheduler()

F¥put(ev: Event*) : woid
[#getCurTime() : Time

[ BprocessOneEvent() : bool
¥ processNow() : bool
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Visitor

[visitModel()
[#visitUniformGenerator()

[#visitExpGenerator()
[#visitFlowSource()
[BvisitFlowSink()
[BvisitPipe()
[#visitQueuedSener()
[#visitSwitch1to3()
[#visitCrossSemaphore()
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[ Zout : ostream* = outputStream

[ BVisTxtOutputGenerator()
FHoutput()

[ BwriteNameType()

[ BwriteDescrLn()
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ModelElement

[=8idCounter : MEID = 0
[z8id : MEID = ++idCounter
[zBname : String

[8descr : String

[ #ModelElement()
¥ -ModelElement()
FHaccept()
[#getiD()
[#getName()
[¥setName()

[#getDescr()
[F¥setDescr()
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[ Zcounter : unsigned long = 0

source! I EFlowElement()
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F#getNumOfOccurrences() O
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RandomGenerator

[58urndNum : unsigned long = urndSeed

[¥accept(vis : Visitor*) : void
[##getDistributionName() : String
[#getMeanValue() : double
[#getRandom() : double
[®umd() : double

[Bconvert(x : double) : double

UniformGenerator ExpGenerator
glower : double = lowerBound [Bmean : double = meanvalue
[=8upper : double = upperBound
ExpGenerator
[#uniformGenerator() =ac<?ept() 0
=agf§i2tt(r)ibutionName() [#getDistributionName()
ngetMeanValue() [#getMeanValue()
Beomert() [Fconwert()
RandomTimedFlowElement FlowElement
(from Abstract Concepts) (from Abstract Concepts)
FlowSource FlowSink
[8onOff : bool = true
F#FlowsSink()
F#rFlowSource() Eaccept()o
#accept() process
O [acceptFlow()
IFlowSource notify ()
switchon()
(from Abstract Concepts) HSWitChOff()
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Visitor

[visitModel()
[#visitUniformGenerator()

[#visitExpGenerator()
[#visitFlowSource()
[BvisitFlowSink()
[BvisitPipe()
[#visitQueuedSener()
[#visitSwitch1to3()
[#visitCrossSemaphore()

VisTxtOutputGenerator

[ BVisTxtOutputGenerator()
Foutput()
[BwriteNameType()
[BwriteDescrLn()

VisModelChecker

VisTxtOutputGenerator

[ Zout : ostream* = outputStream

[ BVisTxtOutputGenerator()
FHoutput()

[ BwriteNameType()

[ BwriteDescrLn()

[#visModelChecker()

[ BoutputViolation()
[#visitUniformGenerator()
[#visitExpGenerator()
[#visitFlowSource()
[BvisitFlowSink()
FisitPipe()
[#visitQueuedSenver()
F#visitSwitch1to3()
[#\isitCrossSemaphore()

VisTxtOutputGenerator
[ BVisTxtOutputGenerator()
FEoutput()
[BwriteNameType()
[ BwriteDescrLn()

VisSimulationReporter

[vissimulationReporter()
[BvisitFlowElement()
[#visitUniformGenerator()
[#\isitExpGenerator()
[#visitFlowSource()
[#visitFlowSink()
[BvisitPipe()
[#visitQueuedSenver()
[BvisitSwitch1to3()
[#visitCrossSemaphore()
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VisModelDocumenter

[#8visModelDocumenter()
[BvisitModelElement()
[BvisitFlowElement()
[\visitUniformGenerator ()
[#\isitExpGenerator()
[BvisitFlowSource()
[BvisitFlowSink()
BvisitPipe()
[\visitQueuedSenver()
PvisitSwitch1to3()
[#8\isitCrossSemaphore()

theModel :
Model
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QueuedServer
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ExpGenerator
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accept(aCongreteVisitor)
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éccept(aConcreteVisito?)
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[TimedElement
(from Abstract Concepts)

-target 1

6: getTime()
—>

Scheduler

[curTime : Time =0

[#instance() : Scheduler*
[®scheduler()

F¥put(ev : Event*) : woid
[#getCurTime() : Time

[ BprocessOneEvent() : bool
¥ processNow() : bool
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[z5time : Time = tm

[BEvent() -next
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: RandomTimedFlowElement ev: Event Instance : el: Event e2 : Event €3 : Event
Scheduler
<<create>>
put(this)
getTime( )
getTime()
getNext() -
getTime() ‘
setNext(ev) '
setNext(e2)
setTime()
setTime() ‘
2: processOneEvent( )
7: first = first->getNext()
—>
/ \ 4. getTarget()
‘ 3: setTime(0
1: processNow( ) \ ) - S€ |m; e©) <O el
aClient e : Ewvent

<<Interface>>
IFlowSource

FswitchOn()
FswitchOff()
#FisOn()

s Instance :
Scheduler
6: notify(idi/

first
5: getID()

el:
ITimedELl...

<<Interface>>
ITimedElement

#Fnotify(id : ID) : v...

id

8: <<des{fR¥rhedule
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aClient

Instance :
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e: Event

while (first!=0 ...
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<<destroy>>
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ModelElement

[=BidCounter : MEID = 0
[=5id : MEID = ++idCounter
[z8name : String

[=z8descr : String

[ #ModelElement()
[F#~ModelElement()
[ accept()
[F¥getiD()
[¥getName()
[F¥setName()

[#¥getDescr()
F¥setDescr()

FlowElement

ControlElement

[Zcounter : unsigned long = 0

g

Model

[®Model()

F#-Model()
[#instance() : Model*

[#accept(vis : Visitor*) : void
[#add(me : ModelElement*) : void
[#remove(me : ModelElement*) : wid
[#getElements() : CollectionME*
[clear() : wid

*

[BFlowElement()

[ ¥acceptFlow()
[®process()
[Bsend(

[#getNumOfOccurrences ()

[#¥resetCounter()
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ITimedElement

source :
FlowElement

source

1 acceptFIovm

FlowElement

RandomTimedFlowElement

#FRandomTimedFlowElement()
#~RandomTimedFlowElement() €

FgetRndGen()
FraiseEvent ()

Fnotify()

-rndGen

2: counter++
3: process()

4: send()

>

targe

this :
FlowElement

ource

5: acceptFIow()\

target

RandomGenerator
(from Random Generators)

target :
FlowElement

source : this : target :
FlowElement FlowElement FlowElement
 acceptFlow() ‘ ‘
counter++
process...
send() ‘
acceptFlow() -

E

+eftTarget FlowElement

leftTurn

+rightTarget

(from Abstract Concepts)

0.1

0.1

Switch1to3

rightT...

=ItProb : double = 0.0
=rtProb : double = 0.0

#switch1to3()

-~ Switch1to3()
Faccept()
Bprocess()
FgetLTProb()
#getRTProb()
#setProbabilities()

0.1

1\, -mdGen

UniformGenerator
(from Random Generators)




RandomTimedFlowElement

(from Abstract Concepts)

O<+—

IFlowSource

(from Abstract Concepts)

FlowSource
[8onOff : bool = true

F#FlowSource()
F#¥accept()
[#acceptFlow()
notify()
#switchon()
F#switchOff()

[Fison()

RandomTimedFlowElement
(from Abstract Concepts)

Pipe

#Pipe()
[#accept()
[®process()
#notify ()

FlowElement
(from Abstract Concepts)

FlowSink

F#FlowsSink()
F8accept()
[Bprocess()

QueuedSenver

[8onOff : bool = true

[8queSize : unsigned long = 0
[=flisSening : bool = false
[8maxQueSize : unsigned long = 0

#QueuedSenver()
[#accept()
[Bprocess()

F#notify()
F#switchon()

F#switchOff()
[#ison()
s Currently Sening()

[#getQueueSize()
[#getMaxQueueSize()

—=0
IFlowSource

from Abstract Concepts)

ControlElement
(from Abstract Concepts)

horizontal

CrossSemaphore

[=8curDir : CrossDir = horizontal
[Ftver : Time =1
[=5tHor : Time = 1

O<F—

[TimedEleme
nt

[ CrossSemaphore()
[#accept()
[#setTimes()
[#getTimeVertical()
[#getTimeHorizontal()
[#getCurbir()
Fnotify()
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